W
=

hydroseb.be

Code article
57MF0O450306L 5 3/16" 03 M12x1,5 6 14 15 37 65 276
57MF0O450308L 5 3/16" 03 M14x1,5 8 17 15 37 65 276
57MF0O450406L 6 1/4" 04 M12x1,5 6 17 17 40 68 276
57MF0450408L 6 1/4" 04 M14x1,5 8 17 17 50 78 276
57MF0450410L 6 1/4" 04 M16x1,5 10 19 17 48,5 76 276
57MF0450412L 6 1/4" 04 M18x1,5 12 22 17 48,5 76 276
57MF0O450508L 8 5/16" 05 M14x1,5 8 19 23,2 51 79 276
57MF0O450510L 8 5/16" 05 M16x1,5 10 19 17 52,5 80 276
57MF0450512L 8 5/16" 05 M18x1,5 12 22 20 50 78 276
57MF0450610L 10 3/8" 06 M16x1,5 10 19 20 55 85 276
57TMF0450612L 10 3/8" 06 M18x1,5 12 22 17 57 86,5 276
57MF0450615L 10 3/8" 06 M22x1,5 15 27 19 59 88,5 276

Rue de la Chaudronnerie, 22
4340 Awans

Tél : 04/247.08.82
Fax : 04/384.78.91

sebastien@hydroseb.be
Garde (24h/24h) : 0497/41.48.37




k>

hydroseb.be

57MF0450812L 12 1/2" 08 M18x1,5 12 22 27 65 08 276
57TMF0450815L 12 1/2" 08 M22x1,5 15 27 22 64 97 276
57MF0450818L 12 1/2" 08 M26x1,5 18 32 26 65 98 207
57TMF0451018L 16 5/8" 10 M26x1,5 18 32 28 61,5 97 207
57MF0451222L 20 3/4" 12 M30x2 22 36 30 63 103,5 207
57TMF0451218L 20 3/4" 12 M26x1,5 18 32 33,5 63 104 207
57MF0451222L 20 3/4" 12 M30x2 22 36 27 63 103,5 207
57TMF0451628L 25 1" 16 M36x2 28 41 38,5 85,5 140 162
57MF0452035L 32 11/4" 20 M45x2 35 50 35 104,5  164,5 124
57MF0452442L 40 11/2" 24 M52x2 42 60 45 119 189 100
Rue de la Chaudronnerie, 22 Tél : 04/247.08.82 sebastien@hydroseb.be

4340 Awans Fax : 04/384.78.91 Garde (24h/24h) : 0497/41.48.37




